STATISTICALLY SPEAKING

Complied by Scott N. Lowery

SOUTH (10-1)

		-)		
			2014 Schedule	
First Downs	204	L	Montoursville	36-38
Rushing Yards	4250	W	Towanda	42-0
Passing Yards	1239	W	Canton	46-7
Total Offense	5489	W	Loyalsock	34-26
Fumbles	23	W	Bloomsburg	63-24
Fumbles Lost	11	W	Hughesville	48-27
Opp. Fumbled Recovered	14	W	Cow. Valley	56-19
Passes Intercepted	18	W	Muncy	49-21
Passes Intercepted Against	6	W	Sayre	55-24
Rushing Yards Allowed	1753	W	Montgomery	69-20
Passing Yards Allowed	1026	Distr	ict 4 Playoffs	
Total Yards Allowed	2779	W	Canton	55-24
Yards Penalized	448			
Points Scored	553			
Points Allowed	230			

SOUTH INDIVIDUAL LEADERS

RUSHING	Dominick Bragalone	3121 yards	192 carries	16.3 avg.		
	John Peters	553 yards	75 carries	7.1 avg.		
	Matt Boone	247 yards	36 carries	6.9 avg.		
	Ashton Martin	123 yards	36 carries	3.4 avg.		
	Gideon Green	122 yards	6 carries	20.3 avg.		
	Keenan Holloway	85 yards	26 carries	3.3 avg.		
	Aaron Orgitano	27 yards	15 carries	1.8 avg.		
	Riley Thomas	20 yards	2 carries	10.0 avg.		
	Kyle Betz	16 yards	4 carries	4.0 avg.		
	Tommy Dunkleberger	-11 yards	3 carries	-2.7 avg.		
	Team	-33 yards	10 carries	-3.3 avg.		
PASSING	Matt Boone	1167 yards	68-106	17 TD 4 Intc.		
	Tommy Dunkleberger	72 yards	6-15	0 TD 2 Intc.		
RECEIVING	Riley Thomas	730 yards	43 catches	16.9 avg.		
	Tyler Schonewolf	143 yards	6 catches	23.8 avg.		
	Brock Jones	136 yards	10 catches	13.6 avg.		
	Dominick Bragalone	84 yards	3 catches	28.0 avg.		
	John Peters	58 yards	5 catches	11.6 avg.		
	Keenan Holloway	31 yards	3 catches	10.3 avg.		
	Ashton Martin	27 yards	2 catches	13.5 avg.		
	Gideon Green	16 yards	1 catch	16.0 avg.		
	Tyler Askey	14 yards	1 catch	14.0 avg.		

<u>SCORING</u>			<u>DEFENSIVE LEADERS</u>				
	TD	PAT	FG	PTS	Tackles Assists		
Dominick Bragalone	49	0	0	294	John Peters 55 36		
Riley Thomas	12	2	0	74	Gideon Green 57 23		
John Peters	9	2	0	56	Nate Koletar 57 21		
Logan Wein	0	55	0	55	T. Schonewolf 27 17		
Matt Boone	6	0	0	36	D. Bragalone 26 13		
Brock Jones	3	0	0	18	Ashton Martin 32 6		
Gideon Green	1	0	0	6	Brock Jones 26 9		
Tyler Schonewolf	1	0	0	6			
Ashton Martin	1	0	0	6			
Safety	0	2	0	2			

PUNT RETURNS

	ATT	YDS	AVG.
Riley Thomas	10	174	17.4
Matt Boone	2	28	14.0

KICK RETURNS

	ATT	YDS	AVG.
Riley Thomas	17	510	30.0
D. Bragalone	3	116	38.6
Ashton Martin	4	91	22.7
Billy Kline	6	84	14.0
Nate Koletar	2	47	23.5
Kyle Betz	2	30	15.0
Cody Nelson	1	2	2.0
Sam Buck	1	0	0.0
Matt Boone	1	0	0.0
Tyler Schonewol	f 1	0	0.0
Tom Dunkleberg	er 1	0	0.0

Dominick Bragalone Record Updates:

Lycoming County and South Williamsport School Records

- Single Season rushing 3,286 (2013)
- Single season touchdown 49 (2014)
- Most points scored in a season 294 (2014)
- Rushing yards in a career 7,135 (current)
- Most touchdowns in a career 110 (current)
- Most Points scored in a career 670 (current)

South Williamsport School Records

- Rushing attempts in a game 39 (2013)
- Rushing attempts in a single season 273 (2013)
- Rushing attempts in a career 543 (current 2012-2014)
- Rushing yards in a single game 424 (2014) (Hughesville)
- Most points scored in a single game 42 (2013)
- Most touchdowns in a single game 7 (2013)

Other School Records Set in 2014 Season

- Riley Thomas Most Pass Receptions in a game -10 (Sayre)
- Riley Thomas Most Pass Receptions in a season 42 (current)
- Matt Boone Most Touchdown Passes in a season 17 (current)
- Matt Boone Most Touchdown Passes in a Game 4 (Shares record with Mike Barr (1972)
- Logan Wein Most PAT's for single season 55 (current)

Milestones to Reach

- Riley Thomas needs 125 receiving yards to set a single season record. (Bill Hyland 854 yards in 1987)
- Matt Boone needs 122 passing yards to set a single season record. (Jason Zalonis 1,288 yards in 1988)

2014 South Williamsport Football Defensive Stats

		G 1		7 0. 1			Opp.		
Number	Name_	Solo Tack	Asst. <u>Tack</u>	Tack Loss	Sack	Intc	Fum <u>Rec</u>	PBU	Blocks
Number	Name	1 ack	Tack	LUSS	Sack	mic	Kec	<u>1 BC</u>	DIUCKS
1	Billy Kline	8	4						
2	Kyle Betz	14	3				1	1	
3	Jared Wheeland	1	1						
4	Clifford Young								
7	Tommy Dunkleberg	er 3	1				1		
9	Brock Jones	26	9			3		4	
10	Riley Thomas	10	1			2		4	
11	Matt Boone	20	3			3		2	
13	Howard Engel	3	2						
14	Colby Walker								
15	William Baskin								
16	Joey Livorno	1							
17	Luke Aungst	1							
18	Austin Danley	1							
25	Aaron Orgitano	10	3			1	1		
26	Gideon Green	57	23	6	1	1		1	1
27	Nate Koletar	57	21	6		1	1	6	1
32	Dominick Bragalone	26	13	1		3		3	
33	Keenan Holloway	3	6					1	
43	Ashton Martin	32	6	5		1		2	
44	John Peters	55	36	6	3	2	2	4	
47	Gabe Miller								
52	Reilly Barnes		1						
54	Preston Ballowe								
55	Nolan Moore	15	4	2					
56	Josh Wein	3	3					1	
58	Rocco Bausinger	17	12	1					
62	Cody Couch	5	3						
64	Connor Rutan								
66	Cody Nelson	17	4	6			2	3	1
68	Sam Buck	11	4	1		1			
69	Isaiah Shumac								
70	Austin Shanklin	1							
71	Ben Johnson	10	1	1					
73	Anthony Caruso	5	5				2	3	
74	Griffyn Stahle	4	1						
75	Mike Steinbacher	5	2						
76	Michael McDermott								
78	Ryan Ackerson	3	1						
86	Tyler Askey								
87	Patrick West	12	4	5	1		2		
92	Chevy Bolay	10	2						
99	Tyler Schonewolf	27	17	6			2		1